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Three resistors, (3Q,20Q,6Q)are connected in
series across a battery What is the

e sl e A pa o (3€2,200,600) ke slia S
Bttt A8l da glial) jlaka La iy jUay

equivalent resistance
30 20 60
—AAMA~AM—AAN—
Ri R: Rs
V=30v
N
) 11Q. B) 36Q
C) 12Q D) 1Q

Three resistors, (3Q,20Q,6Q)are connected in
parallel across a battery What is the

5_ilall Ailal) L gliall jlaha La ¢y jlhay

equivalent resistance
I R1 Rz R;
30 2Q 60
V =30v
A) 4Q. B) 3Q
T —.
C) 50 (@)

Two different resistances connected in series
with a battery, which of the following
statements are true in describing the
equivalent resistance of the circuit

) g jay ae sl e lislisn e glie cilia
dagliall ada @AJGA@M@U\J\ <) laad)
Bilall Asdlgal)

A) The equivalent resistance is smaller
than the large resistance
3 5l A sliall (pa yral LIS A glidl)

B) The equivalent resistance is smaller
than the smallest resistance
8 yiall A giall pe ral 28K Ak gLl

C) JThe equivalent resistance is equal the
small resistance

D) The equivalent resistance is equal the
small resistance

B sl dogliall dosd (S9lud A3 doglaall
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Two different resistances connected in
parallel with a battery, which of the
following statements are true in describing
the equivalent resistance of the circuit

gSi ‘aﬁ)Ua.g o éjbﬁ\ e Oliabisee Olnglae cluoy
dogliall Hldde Casog (3 oo AW Clylal!
RV CELON]

N

A) The equivalent resistance is smaller

than the large resistance
3 5l A il (el ALK A glidl)

B) She equivalent resistance is smaller

than the smallest resistance
5 yall A glaall e yral 258K Ak lad)

C) The equivalent resistance is equal the

small resistance

D) The equivalent resistance is equal the

small resistance

In the opposite figure, if we remove one of
the resistors from the circuit, what is the
change in the equivalent resistance of the
circuit and the total current flowing through

3l (e il slaall (gaa] W13 slaall (e il
3_lall Alal) da glial) (e JS o | day (s3) yxill L
Led el JSI) Ll Badi g

it?

&AyReq decrease and | increase
S HLA D139 LK deglaall Ja5

B) Req decrease and | decrease
S bl J&y 5 sl A slaall Jas

C) Reqincrease and | decrease
SO Jis g BOI dogliall 31035

A) Req increase and | increase
S Ll 210309 LSKI dadgliall S1a3

From the figure below, if (I1=4A, I3 = 2A, I
= 12A) determine the value of I2

I1=4A,13=2A,I14=124) K 2
Iz 4 qua)

A ;=34 B) I= 28 A
(Ql=18 D)2=64
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Which ordaring correctly express the current
in the brnches of the circuit in the figure

89,0 @ WUl (e e o px S i A

92 8,51l
R1 Ra2 Rs
——
T 20 3n 60
V=24v
A 1=LL=1I;3 B) 1>I.<1I3
C) h<lx:<Is &CDI1>12>13
8
Which ordering correctly express the 3 el polassil (e e JSin ax I i A
potential drop in the three branches of the T .
lod) a3 |
circuit in the figure = e gt
1
20

an SRy

Rs

A) AV1=AV; =AV3

B) AV3 <AV < AV:

@Avs > AV > AV

D) AV3 > AV, < AV:
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In the opposite figure, if we remove one of
the resistors from the circuit, what is the
change in the equivalent resistance of the
circuit and the total current flowing through

300 (e e sliall (gaa) L5 ) slaall Jua il &
3_lall LAl da slaall (e IS e 1ok M) ) La
led Ll KU Lil) Bad g

I
T

A) Req decrease and | increase
SO 31309 IR dagliadl Ja5

B) Req decrease and | decrease
SISl 8y 5 2K da i) Ji

Req increase and | decrease
S HLA s g LOSI dagliall D135

D) Req increase and | increase
S HLAN D139 LK dad gliadl 153

10

Three simillar Lamps with different powers
(P1=6.0W ,P2=5.0W,P3=4.0W)
which lamp has the best brightness when

P1=6.0W ) 4dliae & iy 4 )lite enbias 45005
duail 41 zluaa ) (P2 =5. 0W, P3 = 4. 0OW
A al (edhy alua o vie & gl

they connected to the same battery?

&

W=

= i
- —
A) All lamps have the same brightness B))Lamp 1
g shand) (udi L] Lpran 1 gladll
C) Lamp 2. D) Lamp 3
11

By which of the following devices you can
control the curret in the circuit?

& Ll 3 aDA e aSail) Sy 4301 B gaY) (e

5 il
A) Voltmeter el dll B) Ameter Y
@ Potentiometer. agall (abiia D) The capacitor Sl
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What is the reading of the ammeter in the Ania gall 3 yilall A b jeS Ll Gulila Be) B 2 La

o : o T
circuit shown in the figure? ~ Jgal s
p N
[ 180 G@
V=27
—
™~A)15AJ B) 4.5A
C) 2.5A. D) 3.5A
13
What is the reading of the voltmeter in the JEN & daia gall 3 jilall 8 jiiadilgdl) Be) B A La

circuit shown in the figure??

A) 45V B) 36 V
C) 22V D) 12V
14
What is the scientific law underlying the Aa gl sacld agle o 085 Al Lalal) ¢ g8 g2 La
junction rule for Kirchhoff? NS PRPEN|
@onservation of Chargediaill s (518 B) Conservation of Mass aLSJ! taa> (yg3l8
C) Conservation of Energyaiuall laés ) 4ild A) Conservation of Momentum
A8 al) dpeS Jaas 4018
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Which pair of options below would result in
a greater reading on V: in the figure below?

V, e Sisel 3 ) S oLial <) JLAd) (a z9J 7
cUJi JS.JJ\ Lf

V = 45v

R1=470Q

R, =820

A) increase the battery voltage or
decrease R

Ry w9l %J)L@J‘ g 8oL

B) decrease the battery voltage or
decrease R
Rz o\l gl dyyladl dg> (oldil

chincrease the battery voltage or
decrease Ry

Ry ool o) 4y jUadd) aga 3L

D) decrease the battery voltage or
decrease R;
R1 poldil gl dyyladl dgz oS!

16

Two resistors, 47 Q and 82 Q, are connected
in series across a 45-V battery.

What is the current in the circuit AND What
is the potential difference across resisto R:

Aot ae sl e ila 50 82 O 547 O (e sl
& Dball (AL eSh Ll laie L, 45-V L 2gall (58
RaAesliall agall (3 8 La g 5 sl

V =45v

R1=47Q

R2=82Q

Vi=16v

CADI=0.35A

B) | =0.35A Vi=29v

C) 1=2.0A Vi =29v

D) | = 2.0A Vi = 16v
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Two identical lamps connected in series with
a battery, if we add a third lamp in series to
the circuit, what is the change in the

13} gyl e A sill o 0l s go Galilaia (palias
) i) La s pilall TG Talias ) 6il) o Udial

Cmaluaal) beld) o o sy

brightness of the two lamps

—_—

D

@The brightness of the two lamps
decreases Cpaliad 3elia) J&

B) The two lamps are getting brighter
Cmaluaall 3elia) ala 33

C) The brightness of the two lamps does
not change(saluadl selial ,ua®i Y

D) All lights stop working
Jaall (e uabiadl) JS i g

18

Two identical lamps connected in parallel
with a battery, if we add a third lamp in
series to the circuit, what is the change in

1) el ey ae A5l (e Gl e 5 (alfilaia (paluas
e ) La s _ilall TG laluas gl e Uil
Cpaluadl) 3sla) o o oy

the brightness of the two lamps

—_—

A) The brightness of the two lamps
__ decreases Opaluadl 3ol J

B) The two lamps are getting brighter
Cpaluaall elia) ala 3

@)The brightness of the two lamps does
not change saluad) selia) jut Y

E) All lights stop working
Jaall e edbaall JS i g

What is the scientific law underlying the
Kirchhoff loop rule?

FL e adle gk ) alad) (gl g La
?h 5 )

E) Conservation of Chargediaill s 5l

F) Conservation of Mass 4uSJl aa> (g8

((G))Conservation of EnergyailLl Lia ¢ i

H) Conservation of Momentum
A4S jall deS Laia () 4l
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Which is the current through the battery in

&ﬂ\ﬁf\ﬂ\@b)&ﬂ\)&ﬁ@ﬂ\ )hﬂ\ &._\.w;\

the circuit shown below? Ll

Ri=120
NN~

e R2 R3

T 250 150
V=60v
A) 1.15A (B)2.80A
C) 235A D) 5.61 A
21

A small combination is connected as shown

o LS Lall ZLalal) ALY (e e pana Jpaa 55 2

in the image. Find the values of lI;and I,? l1 91y Sedle JLI
2A 4A
I1
3A L,
A) 11=2A ILb=1A =WIF1A
C) h=5A IL=2A D) 1=5A LL=4A
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Which of the following rule is used to
determine the direction of rotation of motor

& jaal) ¢y 99 slai) ppanl andiiun 4 ao ) 681 (e o

e

A) Columb’s Law

PsS Vgl

QBJ Right-hand Rule ol ol Bucld

C) Lenz’s Law Fd pgild

D) Left-hand Rule Sl al Bucd

23

An electric motor is an apparatus that use to
convert

Jasail aadiny Slea sa (Al sl & aal)

A) mechanical energy into electrical

energy
4:30,eS Bl )] 4S8l 23Uall

B) electrical energy into thermal energy
Ayl Bl J] 450, 230l

LC)/?eIectricaI energy into mechanical
energy.

A0 Bl ] 43,6V Bl

D) electrical energy into light energy

A pn A ) 350 g0 48U

24

Electric motors rely on a multilooped wire

coil called an P
N\
A) fixed coil ol Calel! LB armature Jlgdl Caladl
C) colored coil Ogledl calel! D) long coil bglall Calal
25

Which of the following does not depend on

donghalizal) 5 681 jlaia Leale atanty ALY (e Basl g

the magnitude of the magnetic force on a LS Jasy b e
current-carrying wire?
A) the wire’s current (1) B) the wire’s length (L)
et (L) el Jobo

C) the strength of the magnetic fied (B)
(B ) b Uil Jlxall 893

Q)) cos (0) )
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26

A straight current-carrying wire is in a
uniform magnetic field oriented at right
angles to the wire. 0.14 m of wire is in the
0.72-T field. If the force on the wire is 0.33

Jow s Jia o 0.14 m 4 sh asiin el
13) bl Ao (535400,72-T 432 (,.Lm G.ml:.t_m
L3N, Wl e 5 ) Aunscklial 5 il s

felludl a Ll ik

N, what is the current in the wire? o
A) 0.064 A B) 3.3A
C) 0.13A D) 1.7A
27

From the adjacent figure, what is the
direction of the magnetic force acting on the
wire when a current electric in the direction

sj,d\@hl.&d\ﬁﬂ\ bl.&"ﬂﬁch}M\ JE (e
o sall olad¥l (d 4 L S L s e ie Gl

shown X X X X
B
X X X X
—— —

X X X X

X X X X
A) to the right Crpad B) to the left Dbl

P N
L_C‘)}Iown Jiau) D) up el
28

Which of the following is not a property of
magnets?

ol erlaliadl

A) magnet is polarazied

B) Similar poles repel each other if they

are close to each other
Leans (e Cuy i) 13) il Abaial) sy

N
@The North Pole can be separated from
the South Pole
sl hdll e sl cudadl) Jaad oSy

D) Different poles repel each other if they

are close to each other
Leany (pe oy i) 13) alens Aalidal) UadY)
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What happens if you cut a magnet in half?

Ot ) Gl Caedad 13) Giaay 13l

A) it becomes demagnetized

B) you get a separate south pole and a

R separate north pole
Juaiio Jlad (o Junbin ysior b e Juas
C) you get monopoles @you get two magnets
Gpolol bl Yo Jyas Oreblics e Juazs
30

The force acting on a wire that is at right
angles to a 0.60T magnetic field is 5.5 N. if
the current in the wire is 4.5 A. How long is

the wire2

1310.60T o_laia aliiia cdaline Jlaw A s paia g
DLl S 1Y) 5.5 N st Glld) e zyzf,ds\z)ﬁ\ S
L) Joha e A L) &

A) 2.0 B)3.1m
Q) 42m D) 5.6 m
31
A south pole will another south Al i b PEPENT
pole.
A) Attract o3l B) Ignore Jogs
Q) destroy Basr @epel grIwe
32

If a current is traveling toward, you in a wire,
what is the direction of the magnetic field?

o@\ﬁuc(c)&\‘ﬁj\)ﬂ}&)@@ﬁﬁ&mﬂh
ﬁLw\du\

A) toward you (z oA ) & g

@counterclockwise deludl ol Se

C) away fromyou  (Jalal ) clic aatiu

D) clockwise delull o jlae as

Which of the following metals can a magnet
attract?

fleainy () ulalinall Sy 400 alaal) 6

A) Aluminum o ssial¥) B) Copper skl
C) Silver nuadll @_))Nickel J<al)
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A DC current produces a/an: A g el Ll
A) Electric field QLyeS Jlxe B) Electromagnetic field
(CDNIagnetic field b lide Jlme D) Gravitational field @i Jlro
35

In the figure below, if the current in the wire
were reversed, what would the direction of

olad) oa Lad cellull & Ll GuSad) 13) colinl JSal)
dudaliaall 3 gal)

the magnetic force be?

7\
A)) Down Jiu) B) Left Dby
C) Right e D) Up el

36

An electron moving at 5.6x10” m/s travels
through a uniform magnetic field of 1.4 T at
right angles to the field. How strong is the
force that acts on the electron?

o Al A5 51,4 T iy alaiie owdalina Jlas

S e i 555 8 o L Jland)
ci':-—-\ R x| O_IQC

Q@-Lsxw11 N

B) -3.7x10' N

C) 1.5x10* N

D) 2.2x10 ' N

Page



Depinding on the adjacent figure, determine
the direction of deflection of the compass

50 ol jadl oladi) 2o ¢ sladdl JEN e Tadias

needle at when an electric current passage W
of in the wire (the compass is under the
wire.
P
@to the right Ol B) to the left Dbl
C) down Jau D) up e

8

Which of the following magnetic fields is
correct for a single bar magnet?

oublina mnall g 20 Al ciflaal) Ga
aal g (o yd

WA

ﬁiZE?\

/
Ny
TN N

Oﬁ M@ﬁ

N R
7B TN

A) 1

B) 2

C)3

D) 4
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An electric current flows into the page. What
is the direction of the magnetic field?

W Amiall L] (53 pee bt el 3 ik eSS (30
(srhaliial) Jlaall ola

A) To the bottom of the

B) To the top of the page

C)

D) Counter-clockwise.

40

Which point represent the north pole of the
solenoid shown in the figure??

zea sl ol Gl Calll Sladilf ulal) Jiad Al Adaiil)
@ Jsall G

A-i M“Mﬁé f* 8
C.

I
A)  PointA (B)) Point B
C) PointC D) Point D
Y e
Determine the direction of the magnetic 05U e b 55 all dynlalizall 5 g8l) olad) aaa
force on the electron shown in the figure JREN A e sl
4 E)
%
o—
electron
(Ay Inside the plane of the page  J5Ib B) To the right Oned! I
C) Out the plane of the page S D) To the left Sladt I
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Looping a wire connected to a battery CsSS (A Dlanse Jga A jUaally Jaatia el Cal (52

around a nail will form an electromagnet. Cruabliall Jladl) Gulall) jeday el | AL 368 Lukalize
Where is the electromagnet's north pole fomadl e b pall A AL S

shown on the image to the right?

A) at the top of the nail @at the bottom of the nail
C) at the center of the nail D) along the right side of the nail
Dbassall 3 ya b Dtassall (g g ilall Jsh e
43
An electric wire is looped around a nail as S WS jlawa Jon Al S el Gl 1
shown in the image. What happens to the Gldl a3 LalS (36 elildial Eaag 1ila 3 ) puall
paper clips as the number of turns of the ety

wire increases?

A) As the number of loops increases, the number of paper clips attached to the

electromagnet will decrease.
(el Gnhalinally Abatall 438 ) o) cliliall dae midin (Gl aae o) ) LS

B) As the number of loops increase, the number of paper clips attached to the

electromagnet will not change
e Gulalinally 48 el (3 )50 lilie 230 yuaty () «lilal) dae 334 ) as

QDAS the number of loops increases, the number of paper clips attached to the

electromagnet will also increase
LS b liadb dasledl 3ol ehline sue Wil slajw ¢ oilaldl sue 8oL ao

D) There is not enough information 4 Gloglao uxg3 Y

Page



In which direction will the wire move when
placed between two magnets that are in

Opebalize (o 4z g ie Sl @l adis ol g

front of you as shown?

-—

A) to the right

B) towards you

@away from you clic ot

D) to the left

Which of the following equations can be
used to find the magnetic force caused by a
currentcarrying wire between magnets?

5l Sy Ll (s Al Y alaal] (pa 5]
osbalinall G LS deay el Ly Al dplaliall

@ F =ILB sin®

B) F=qvBsinO

C) F=qvsin®

D) F =IL sin®

46

A negatively charged particle moving to the
right is placed in a magnetic field that is

ol Jloe b Cppasll ) o s A ) s ppes
e b yisall dcudalinall 8 gil) olad) La clic 1y alaiie

directed away from you. What is the pEEENRA U IVPRWEN|
direction of the magnetic force on the
negatively charged particle?

X X X

e—v
X X X
X X X
A) Upward e B) towards you & s
@downward Jau D) away from you clic aztis
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A current-carrying wire is placed between
two magnets as shown in the image. What
are the directions of the magnetic field and
magnetic force?

s o LS Gpunhaline G 1508 Jasg elli aa g o
581 g (prudaliall Jlanal) lalad) A La 5 sl b
$dplalis ol

B

/l

A) the magnetic field is away from you.

e 1xine bl Jandll

Q?»_))the magnetic force is upward

oS0 Ll 5 g8l

C) the magnetic force is downward

Sl Aaalinall 3 5811

D) the magnetic field is to the right

Cpaall unlalinall Jlsall

* 9= 4 %6416 1C

A particle with a charge equal to 4 protons is
moving at a speed of 2.5 x 10’ m/s in a
magnetic field of magnitude 1.2 x 107 T. The
direction of motion of the charged particle
makes an angle of 40° with the direction of
the magnetic field. What is the value of the
magnetic force experienced by this charged
particle?

g——

Aoy Sl g9 3 4 (5 lasd dndi apus & ey

oylaia ounhline Jlae 52,5 x 10" m/s

aiay O sadiall arall 4S jaoladl 1.2 x 1074 T

5l dad A Lo cunblinal)l Jlaall olail ae 40° 4350 )
T 9adial) asadl 138 Lgd (s AN Apandalinal)

(ALL2x 105N

B) 4.8 x 1071 N

C) 34x10"N

D) 3.1x 1071 N
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As the right magnet moves toward the
suspended magnet, what will suspend

Blaall Gubaliadl g Gulaliaal) & st Leate Eiasy 13k

magnet do

A) It will move to the left Slaal) iy @It will move to the right el 2y

C) It wil stay at rest LSl (g0

D) It will oscillate between right and left
Dbl crrad) 2y

>0 Q=(-6%16'7C.

An electron is moving at 7.4x10°> m/s
perpendicular to a magnetic field. It
experiences a force of -2.0x101* N. What is
the magnetic field strength

Jiae e L 5ee7.4x10° m/s “de w5yl & jas
-2.0x10B N @liis sl [ oy undaline
¢ palital) Jlaall 30 La

A) 8.2x10715T

B) 0.31T

C) 1.7x108 T

(o177
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